
Targa XL 12 Dolly - 28545

 25 Pickering Place Ottawa Ontario K1G 5P4 | T: 1-800-387-8226 | F: 1-800-363-5309 | info@dustbane.ca | www.dustbane.ca

CERCLE VERT

GREEN CIRCLE

Targa Eco Series

Parts List

Targa Head - 990 / XL 12 / XL 18 – 26202

Tank & Dolly Assembly - XL 12 Dolly – 26334

Tank Assembly - XL 12 Dolly – 26194

Dolly Assembly - XL12 / XL18 / PC3 – 26260

Hose Assembly - 1 1/2”  X 10’ – 29006

Filters

Parts List / LISTE DE PIÈCES



Parts List

Targa XL 12 Dolly - 28545

 25 Pickering Place Ottawa Ontario K1G 5P4 | T: 1-800-387-8226 | F: 1-800-363-5309 | info@dustbane.ca | www.dustbane.ca

CERCLE VERT

GREEN CIRCLE

Targa Eco Series

26202 Targa Head - 990 / XL 12 / XL 18
Part # Description Qty
04182 Female Connector 2
04198 Plug - Dome 1
21082 Cord Grip 1
21829 Vac Motor - Bi-Pass 1
22326 Motor Gasket 2

26000 Rocker Switch 1

26001 Switch Plate 1
26003 Power Outlet Plug 1
26006 Motor Housing - Blue 2
26013 Filter Cage - Large 1
26014 Float Shut Off 1
26026 Top Foam Disc 1
26027 Accoustic Foam - Lower 8
26032 Screw - 1 X 10/16" Phs 2
26038 Wire Assembly - Black 1
26041 Wire Assembly - Ground 1
26050 Power Cord - 50' / 15.24M 1
26117 Screw - #8 X 3/4" Phs 12
26147 Housing Gasket 2
21760 Carbon Brush Kit 1

26334 Tank & Dolly Assembly - XL 12 Dolly

26194 Tank Assembly - XL 12 Dolly - Green

Part # Description Qty
01194 Nut - 1/4-20 Hex 3
01202 Washer - 1/4" Shakeproof 3
22313 Screw - #10 X 3/8" Phs 4
26101 Inlet Air Deflector 1
26102 Tank Clamp 2
26232 Drain Plug Assembly 1
26245 Bolt - 1/4 X 3/4 Carriage 3
26310 Tank - XL 12 - Green 1

26260 Dolly Assembly - XL12 / XL18 / PC3

Part # Description Qty
02965 Caster Socket 2
03063 Washer - 1/2" Nylon 4
04112 Axle End Cap 2
20027 Caster - 3" 2
20060 Washer - 1/2" Tension 2
26249 Dolly Frame - XL12 / XL18 / PC3 1
26265 Wheel - 10" Grey 2

29006 Hose Assembly - 1 1/2"  X 10'
Part # Description Qty
26104 Inlet Swivel Nut 1
26113 Hose Cuff - 1 1/2" 1
26227 Hose - 1 1/2" X  10' 1

Filters
Part # Description Qty
26020VG Targa Filter - Dry Large 1
26023VG Targa Filter - Wet Large 1
26141 Jogger Ring 1
28502 Filter Bags - Lg (10 Pk) 0.1

08/2013

Parts List / LISTE DE PIÈCES


	TargaXL12Dolly(Parts)_08-2013.pdf

